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MTH 30. QUIZ. NAME:
1.

Solution:
sinx COs T tanx secx cscx cotx
0 0 1 0 1 Undef. Undef.
1 1 2
il Z @ - - 2 V3
6 2 2 V3 V3
T 1 1
— — — 1 2 2 1
1 7 % V2 V2
1 2 1
il é Z V3 2 - -
3 2 2 \/g \/§
g 1 0 Undef. Undef, 1 0
2 1 2 1
il é _Z V3 -9 - -
3 2 2 \/3 \/g
3T 1 1
— —= - —1 —V2 V2 —1
4 V2 V2
1 1 2
5_7T Z — @ S S 2 -3
6 2 2 \/§ \/3
T 0 -1 0 -1 Undef. Undef.
1
23 R - U T B /3
6 2 2 V3 V3
5% 1 1
i 1 V2 V2 1
4 V2 V2
| v [ 1 7 _2 R
3 2 2 V3 V3
3?# —1 0 Undef. Undef. —1 0
1
el V8 [ 1 s ) 2 [ 1
3 2 2 V3 V3
7T 1 1
— - — -1 2 —V?2 -1
1 7% 7% V2 V2
11 1 1 2
il - @ - - -9 -3
6 2 2 V3 V3
27 0 1 0 1 Undef. Undef.




